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Part II - Composite questions: . _

10. (10 pts) CD has periodic structure with period of 1.6 pm. For 30° incident laser with wavelength of
500 nm, obtain the diffraction angles of +1% and -1 orders with respect to the 0% order.

11. (10 pts) A circular aperture has radius of 1 mm. The observation point is located 10 cm away from the
aperture. The light source is located at infinity with wavelength of 1 pum.

(a) How many zones does this aperture contains?
(b) Obtain the radins of the first zone on the aperture.

12. (5 pts) A linearly polarized monochromatic light source is used for Michelson interferometer. What
will happen to the fringes if we insert a half-wave (A/2) plate in one arm and rotate it slowly from 0°
to 180°7

13. (10 pts) Rainbow is polarized. What is the polarization direction? Explain the origin of its
polarization. '

14. (5 pts) Please use phasor aspect to explain the phenomena of standing waves.

15. (10 pts) A blue LED emits 450 nm light into a hemisphere isotropically with total power of 1 W as
shown in the..follbWing figure. Calculate the total force applies to the LED in the unit of nt.

N/

— N>

. —=— _
- Blue LED emits light into a hemisphere isotropically.
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